HKCEE M.C.(82-88)

Mathematics Pl
INDICES, LOGARITHMS AND SURDS
2
l. (x2y—l) - (xl/"'-!\/—l) -
(83) A. Xy BE. >:\/‘1 C. X\/A:’ D Xz\;"“/z E. X—J./:zy—:z
2. IT a and b are positive numbers, which of the followi ng
(B3) is/are true ?
(l) loglo(a + b) = ngloa -+ lcjgl,cltl
(3) log,eca a
b4 ldglob b
A. (1) only B. (2) only . (3) only
D. (1) arnd (2) only ~ E. (1).,(2) and (3}
3. (2:—-*;)2 % (4—‘2r—1-1.) = gm o=
= ‘ :
(84) A. 1 B. 2=2h=—a C. 2 tzhn np. 2 — an E. 2-2n+1
4. 1F (I3 = d2)x = 1, then A
(84) A. {3 + 42 B. 1 c. i Dp. 1 e 5 -
&+ 1z Z  Z s  J2 &
5. . log.o(a® - b=y = ) N
(8%) A. log,.ca/log,iob B. 2 logiela — 1Y) C. 2 logigca — 2 lag,ob
D. log.iola+b)+rlogiel(a—b) E.(l0gioa+iogaiob) (logisa-log.ob) :
. It (10™) v = (2 )(%) , then which aof the following must be
(B6) true 7?2 , :
A. Xy = z B. xy = 2z C. xy = z&~ D. x» = z E. x» = 2=z
7. bt ;\
(86) - +/- =
% X
- ) (x+y)=l xz—i-y:. K+\/+2 x+y
A, = B. ————— C. ————— D. ———— E. 1
xy XYy wy Ry
8. IT logx= + legy® = logz® , where X, Yy and z ars= positive
(86) numbers, which of the tollowing must be true 7
(1) x= + y2 = 2% (2) logx + logy = logz (3) x2y= = 22
A. (1) only B. (2) only C. (3) only
D. (1) and (2) only E. (2) and (3) only
7. If x + i}x =1 + Ji, then x=2 + 1/x= =  _ -
(87) A. 1 B. 3 C. 1+ 2/ D.2+2{2 E. I+ 243
10. IfT 3IZR+1 = 32% 4+ 4 + then k =
(87) A. ~1/4 B. -i/2 . C. 1/4 D. 1/2 E.3
11. I logiax, logiay, l0GioZz are in A.F., then
(B7) A. v = 10n+x>r=2 B. v = (x+z)/2 -C. y=2 = x+2z
D. Y= o= xz E. % = 1= -

Bl



12.

(87)

13.
(87)

14.
(88)

15.
(88)

. e C e prgn
Sclve the inequality x109.50.1 > log,s10 "

A. x > =1  B. x>1 C. x> 100 D.x <1 E. x < -1

Let n be a positive integer. Which of the following numbers
is/are odd 7 :
(1) 2=r=2  (2) 20 + 1 (Z) 3(2)

A. (1) only -B. (2) only C. (3) only’

- (2] and (5 onty E. (1), (2) and (3)
2n--a 2( -y )
Simplify —“—————————————
’ 2(2(:—4-'_,)
A. 7/8 BE. 7/4 C. 1 = 20h+s D. 2°*= — 1/8 E. 2n+a

If loga > O and logb < O., which of the following is/are
true 7 )

(1) log(a/b) > O (2) lecgh®2 >

Q (3) log(l/a) > O
A. (1) only . B. (2) only C. (3) anly
D. (1) an.d (2 Dﬂly £. (2) and (3) C)ﬂly

ANSWERS

1.A .2.B 3.E 4.A_ 5.0 4.4 7.A B8.E 9.C 10.D
£1.D 12.E 13.B 14.4 15.A - :
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